S,)

n(x; \s,

0

~  \(5,=13TeV*  |5,=8TeV Vs, =7 TeV V5, =5.02TeV* {s,=2.76 TeV —
[ ® |5,=09TeV ™ \5=09TeV O |5=09TeV =+ |5,=09TeV = {5=09TeV
— ¢ {5,=276TeV ® |5,=2.76TeV O |s5,=2.76 TeV + |s5,=2.76 TeV -
= \5,=5.02TeV % {5,=5.02TeV 4 |s,=5.02TeV i
— O \5,=7TeV Vs,=7TeV .
[+ \5,=8TeV 1k ]
: 20 m#’ﬁk@b ! T ? * +## |
o * Sl h
: + AL :
SR |
- { % Js=09TeV | ]
: f (5=276TeV :
~ min. x; for fit: Vs = 5.02 TeV [ ~
- Ns=7TeV | == n=4.99 +0.05 1
- Vs=8TeV ALICE *Preliminary

I \/_—13TeV R ! p+p—>Tl0+X
[l ! ! L | ! ! I R

0%  2x10™ 10°  2x107° 102 2x10°

X1



